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University of the ancient period which hasl
been declared by UNESCO as a heritage site

is:
Ui & & faemea TAR! J G
mu’rﬁam%

A. Mithila/faferen

B. Vallabhi/deardi

C. Pushpgiri/gsafid

D. Takshashila/deif3rer

E. Nalanda_/zlﬁ?ﬂ s

Choose the correct answer from the options
given below:

ﬁmmﬁwﬁ&mwmm

CAlELE
(a)A and B only/aa_clﬁ A 3R B

(b) Band C only/aﬁa B 31 C
(c) Cand D only/aa_cl?f C 3R D
(d) D and Eonly/ﬁﬁ D 3R E \/




University of the ancient period which has  |Ans. (d) : & & & 3 9 fagfaarerat & m
been declared by UNESCO as a heritage site e fam m o q‘Tﬁa ERIC é fE

Sﬁqm%mﬁ%qﬁﬁ’rﬁaﬂa wferfiad -

woret witfere fefa &: () e vl (T faw fomes-fen) - o
A M“h“amﬂ 2016 ¥ B R
2' :alLabhl° (if)  efien faufermer () - af 1980 & wiftm
. Pushpgiri/gsafird
D. Takshashila/aefrar feba |

E. Nalanda/ATiar

Choose the correct answer from the options
given below:

Hiar feu 7o faewedat & ¥ WE 3T @ w@A

: = % J_ =
(a)A and B only/&@@ A FR B - 8 = ' =
(b) B and C only/&a@ B R C - | Easy Notes 4u I i
Online Study "J

(¢) C and D only/&ad C 3R D
(d) D and E only/&d@ D R E




Given below are two statements
et @t wew fou T §:

Statement I: A variable measured at the
nominal level can be used in higher-level
statistics if it is converted into another form.

HUA [; TG W W WG B @ G
Joonaita wifrat o g W § W
wUTand & fear s

Statement II: The result of the conversion
process is called dummy variable.

HIT 11 ; BUEU w@F YRAT & R &
T =W E J

In light of the above statements, Choose the
correct answer from the options given below

T F % e §, 9 faw T fo

(a) Both Statements | and Statement Il are
false/&a 1 34 11 ST 371G 2|

Both Statement | and Statement Il are
true/FIA 1 31 11 241 TcF 8|

(¢) Statement I 1s false but Statement II 1s
true/&IA | 379 2, g F4 11 94 2|

(d) Statement [ 1s true but Statement II 1s
false/Ha 1 G 7, foheg 9 11 319 7|

L,
_—




Given below are two statements
et @t wew fou T §:

Statement I: A variable measured at the
nominal level can be used in higher-level
statistics if it is converted into another form.

®UA |; A W W WG W @ g
Jootia wiferat ¥ g wear § afy W
wUTand & fear s

Statement II: The result of the conversion
process is called dummy variable.

HIT 11 ; BUEU w@F YRAT & R &
MU =7 FEd g

In light of the above statements, Choose the
correct answer from the options given below

IWITh ®UAT o el W, et fou T forameat

(a) Both Statements | and Statement Il are
false/HI 1 3 11 4T 379 2|

(b) Both Statement | and Statement 11 are
true/FIA 1 31 11 241 TcF 8|

(¢) Statement 1 i1s false but Statement II 1s
true/&IA | 379 2, g F4 11 94 2|

(d) Statement | 1s true but Statement II 1s
false/m:rma% fohg F Ilammél

./(ns (b) : mﬂ?ﬁﬁﬁﬂﬁ?ﬂﬂ‘lmmm%lwﬁ:mﬁﬁ
T W AT 9 & 9Rada fHar 1 gehar @ adr A
T/ Faa (0, 1) & 3H & w=2ftfd @ 21 7 ofad
had U o o for @i 2|

=
\d |||

Easy Notes 4u I —;
Online Study * -~
1 ~r
. o




Pick the correct option to represent the given
argument

fo e 3 it a % o -
Hehd T TTT i
All artists are egoists  \ )+ \N

quft HEATHN SEEHNT Q \

Some artists are paupers

FO HTEHN 1 2

Therefore somepapers are egostis

ar: 7 1% S §

(a) A IT-T figure/A Il -1 3ATHR

(b) A II-II figure/All —I1 TR

(c) A II-III figure/A 11 - [1I ATHR /
(d) AIl-1V figure/A I - [V 3T6HR




Pick the correct option to represent the given

argument

ﬁqmﬁﬁqu’fﬁmmﬁ%@@m-
Hehd &1 T

All artists are egoists

wuft HeTER N ¢

Some artists are paupers

O FHATHN 1 gl

Therefore somepapers are egostis
A T Tk g B

(a) AII-1 figure/A IT -1 31K

(b) A I1-II figure/All -I1 HTHR

(¢) AII-1II figure/A 11 - I1I 3{THR
(d) A1V figure/A I - IV 3R

Ans, (¢) : Tt FTER FWEHFG 2 -A 7 fa
\/@@wlmu{mél -1 9 3
Hﬁ:@@iﬁmél-lﬂ
T4 WO UG I SERAE § 356V & WM W
ﬂméﬁ%wﬂmﬁmmmélmﬁﬁ@
59§ AIl -1 a0 e fade g




If the selling price of 24 results in a discount of A
20% on the list price, what selling price would |~

result in a 30% discount on list price?

7te 324 o foa e & it el O W
20% T2 ¢, o foar e o wftomm el
e W 30% G2 g/

(a) 18 b) 20

Q@M )2




— — If the selling price of 24 results in a discount of
Ans. (c) : T fE awq & gt ge =100 20% on the list price, what selling price would
39 g ge W el @2 = 20% = 100 % =70 result in a 30% discount on list price?
324 % fawra woa a1 oy W
;- fasha geg = 100 - 20 =380 " - T
i 20% T §, T forw forshr qewr e wivom et
9a fa. 9. T80 @ gt 9@ =100 "
. T W 30% G2 B
afe fa. 4. 224 @ gH 0 ——x24 (a) 18 (b) 20
_?30 / (c) 21 (d) 27
/
JYAMER, >V

gl e W & T 32 = 30%
30 2.9 9ot g7 W fielt @2 = 30 &1 30%
30

= —x30 =39
100

mizlﬁmwmmiﬁﬂwmso%

g |

=30-9=X21]

(=N

°/_° _ =
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Match List-1 with List-11

gi- 1t g=i-11 9§ gafera st

List-11/4a=-1 List-T1/g=t-11 5
A. If'A'1s True I. 'E'1s True; 'O'1s ko
a2 ‘A" | @ True/lg_ w1 Q i )
1'0' o 2 @ I
B. IF 'E'1s True IL.NO' 1s False; 'E' 1s
afs 'E' w8 False/'O' 39T &,
'E' 379 é
C. If T 1s False II. 'A' 1s False; \
gfe T 379 2 False/'A' EFRSFI &; ‘\
T I 2
D. If'O"1s False . IV. 'E'is False; 'T'is
Ifg 'O 319 2 True/E' 3794 &; 'T'
g9 2
Choose the correct answer from the options given

below:

=9 faw T faswedi § 9 9d 3w gfu:

(a) A-I, B-I1, C-1II, D-IV
(b) A-II, B-III, C-I, D-1V
(c) A-IIL B-1, C-1I, D-IV
(d) A-IV. B-II, C-III, D-I




Match List =I with List-11 . One-shot Case III. Omits the pre-
Study/a4- Tl< ested groups Hd
geft-1 &t geit-11 | gafe st e sdopeter
; ; -gdfara [ a6l
List-1/geh-1 List-11/g=h-11 e
(Types of Design) (Characterestics) : [C)orrelatlonal IV. QbsTrvation ft)f a
W%W) (m) Ha\m%qa; s ea poiit o%ﬁmz to
. Solomon Four [. Itisa cross- Obﬁse""f ea‘aheﬁ Cﬁha“ge
Group Design sectional  design/ HE B T =6
HiAmT & GR WEE R SHIg-TF9e Toa # us T &
Hfiheq HfiHeT 2| 5
\{B Post-test only II. Contains an Choose the correct answer from the options
Control Group additional set of given below: .
Design/Teumatia control and et fe e ferehet o @ W I EIRLE
Fad faaao 97z experimental \}Z;/A'L B-I1, C-II, D'[\; Q)
e 11 R 3 i
e Eﬁupmsm y q@' " (o) AMTBIV.CLDAI -
(d) A-IV, B-I, C-II, D-III

& T A




Match List I with List I1 D. Access to quality V. BCI/alt i Gl

Tefi-1 0 ol 11§ Gl it and affordable
List-Ugeft-1 —>  List-1I/geHt-11 medical education/

A. Lay down standards 1. NCTE/T 4t & § TRt 3N ag "@
of legal education FH T fafEar
I W F Choose the correct answer from the options

B. Maintaining the ~ II. AICTE/U3TEHidE given below:

quality of technical et fou v fawe @ ® W&t I g
education/ (a) A-L, B-II, C-IV, D-1II
GET cARNCIRE] (b) A-IL, B-IIIL, C-1V, D-I
TG a1 TG () A-IIL B-IV, C-I, D-II

C. Maintenance of [1I. NMC/tF tq #t \,é! A-1V, B-11, C-I, D-III > ) ”
standards in teacher -4 ~J & -
education/ Easy Notes 4u I —[;

m m % m L Online Study "J
I dqIT 1G] g o




Match List I with List 11

C. Black Hat III. Provocations,
-1 il TE-11 # 3 v FHIAT Zidt alternatives and
List-1/Gef-1 List-11/G=i-11 creativity-
Thinking Hat Concepts and Ideas proposals
System ( TGETUMG 3T // AT, _'aaﬁ" 3R
( o et ! ) D. Green Hat . Intuition and
faiferm g2 fawew) gl fl‘ﬂ// emotlons/@lﬂiﬂh
A. White Hat I. Judgement and 3 AT
vaq 21dt caution-the logical Choose the correct answer from the options
—— _ 3f['{ given below:
negative/ 012 o fau o faeedt § | wE S g
feram — dfeheh A-1. B-I1L. C-II. D-I1V
fesemeTa @) A-IL B-IV. C-LD-IIL )
B. Red Hat [I. Data gathering- (c) A-ll, B-1I, C-1V, D]

(d) A-1V, B-1, C-111, D-II

ATl 2Tt facts, figures,
_~ information needs

-~ and gaps/ ¥ad
HAGIG AT

Al &
I FHfyaf




What is the World Wide Web (www)?

e dAIZe od (www) T 7

(gy Collection of webpages stored on websites
qawEe] W Hed dausl & §R

(b) Hypertext processorm e

(c) Interconnected networks

@ R ¥ ¢ U A2ah
(d) Web browser/dd AZH

N




Wh:at 1S the World Wide Web (www)? ma)ﬁm éa, aam T Wﬁﬂmﬁ[
R T — e |7 17 08§ 2, 5, o

(a) Collection of webpages stored on websites

S e e e, afed a1t 7 ¢1 7 e o 1 o
(b) Hypertext processor/ﬂ%‘q@w T aﬁ Evﬁﬁ ]989 fm T

(c) Interconnected networks ——

T G | TG q0 ed
(d) Web browser/dd A3

__2 \d E]“
- N\
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Statement I: One's perceptions and beliefs are
the basis of genralisation in communication

HUF | ; Afvh o _del 3T gwund wuwer o

WTAT=ERIUT & 3T 2|

Statement Il: Genralisations of  the
environment develo&through experiences. ‘
HAT 11 ATHT=ATEHIOT 3 9al o
e | ﬁaﬁgﬁﬁ_jl

In light of the above statements, choose the
correct answer from the options given below

IUAhH AT & TeArtes o, Hrer fau o faameat
U o W& 39T &1 9T ST
(a) Both Statement I and Statement II are

\X{falseﬁﬁﬂ?lﬁ? [1 SFT 3719 21
)

Both Statement | and Statement Il are
true/HIT [ 3R Ilaﬁfﬁgl

(c) Statement [ 1s false but Statement‘ II 1s
true/&HI 1 3789 2, fheq F9 11 97 2|

(d) Statement [ 1s true but Statement Il 1S
false/&9 | 7 2, fhed H99 11 379 2|




What is the name for the technique which uses \\
images that are often more evocative than | ~_—
words, and more precise and potent in
triggering a wide range of associations and
thinking?

I dHATER T T A0 § Fad ferar & gam
feram trar ¢ Sy yredt @t 3rva 3 W
A & ¢ 3 fafay yer & wgeat 3
are & W 0 oI wedte @ gifeRoTelt B

¥ g
\/6) Brainstorming/faemasr —
it mappng D 1| >
\(,e')/ Story boardingﬂiﬁ afen_—

\y() Synectics/ﬁlﬁmﬁr//




What is the name for the technique which uses | |Ans, (hy? Wig Wftn qadia o fawai & s fan o @
images that are often more evocative than | \& won wet 3 smen afog w9 & #3423 ffay
words, and more  precise and . thent in R F W o ae @ T N e o

triggering a wide range of associations and

thinking? Wﬂtﬁéﬁél
Waﬂmwwm%mﬁwmm

R T & < 9 W @ artan e }}V
h & § 3l fafqy yen & wgedt 3

arer @t W aifres wéte @ vIfRuITe 2

27
(a) Brainstorming/faaray
(b) Mind-mapping/ATEg-Hft

Online Stu S
(d) Synectics/ffaza | onli «




What is Ethernet?
U FE?
(a) A collision-detection protocol
Fifera fedauM S
\})zf) A protocol used by many wired LAN's.
T ¥ T2 & o (LAN) 3R 59 N

(¢) A protocol used for address translation
g ZIAclvM & oIt 59 S
(d) A security protocol/ e S




What is Ethernet? Ans\)/ by'; 3T & 1 13, R, T T §
B 1 el v e e awmw
(a) A colliston-detection protocol Rl 1 21 3% 40 3 WS 8 2R O & 2
o fezawm S e
(b) A protocol used by many wired LAN's
i & 72 & @ (LAN) 30 a5 Jeraia
(¢) A protocol used for address translation
T3 WA & Y Y e A
(d) A security protocol e et h ZTI'T




Statement I: DVDs use a single spiral 'track’ to
store data working from the centre to edge.

wAA I: St S | greT @ wufga & & fo

Ushet dctad ‘2eh’ ol WanT feRar Smar § & \/1:,
&g W Y6 Bl B &l 31T @gd g0 &Td ahdal

Statement 11: DVDs are Read-only devices

wHAF 11 : S ot St Shaer- usHa (fre-2n=et)
fearza £ A
In light of the above statements, choose the
correct answer from the options given below

IUTh el o 3TTereh |, et fau o faemeat

o | Wil 3T T oA Hitwu:

(a) Both Statement I and Statement II are
false/&HI=T 1 37X 11 2T 319 21

(b) Both Statement I and Statement II are
true/&H9F 1 3 11 241 9 2|

(c) Statement 1 1s false but Statement II 1s
true/&HA | 78A 2, foheq F97 11 9 2|

) Statement | 1s true but Statement II 1s

false/&Fa- | 9 2, foheq 9 11 379 2|




Which of the following are in the "Six Choose the correct answer from the options given

) " below:/
E‘I::lr:‘l::]ng% Hats System", a form of parallek 3% e i el o e e
i 4 ' o (a) A, B and C only/&dd A, B 3 C
%maﬁm _(mwm (b) B, Cand D only/&ad B, C 3R D
ﬁTETI) ﬁvmm@@"ﬂt \,WfB,DandEon]y/q:?ﬂﬁB,DSﬁ'(E
mﬁﬁﬁ-aﬁ?ﬁ? (d) C, D and E only/@a@ C, D 3R E

A. Brown Hat/q{t (3737)

21
B. White Hay/¥aq 2rd / ®

C. Violet Hat/am 21

D. Red Hat/@d 21 ca TS g
E. Black oy 218~/ | e .
P st




Identify the correct sequence of wind energy
potential at 100 m above ground level in @
decreasing order

T WX H 100 W & FE W UG FHAT &Twar
& WET 3TaUET T H U i

A. Karnataka/&iea

B. Andhra Pradesh/3781 591

C. Gujarat/TTsid

D. Tamil Nadw/daifie-rg

E. Andaman and Nicobar Islands/37EAE g

frspar gioagg

Choose the correct answer from the options given
below/
dra faw o fawed § @ 9@ sgr'E 99q Fifo:
(a) A>B>C>E>D C>A>B>D>E

(c) C>E>B>D>A (d) D>C>A>B>E




Identify the correct sequence of wind energy
potential at 100 m above ground level in
decreasing order

A 100 W & FE W AT FoAt &7
A. Karnataka/&ie®
B. Andhra Pradesh/37 S&W
C. Gujarat/TTsRId
D. Tamil Nadu/aifAerg
E. Andaman and Nicobar Islands/3€99 d
frpiaR Soag

Choose the correct answer from the options given

below/
(a) A>B>C>E>D \dyz*;*MB}Db-E
(d) D>C>A>B>E

(c) C>E>B>D>A

ﬁns. (b) )R & 100 [ 120 HeX $ FaiE

W UG Hall Gqdl & 9 J3renfofiad g

T loorﬁ.ww(ﬁ i, J/ qaq
Foll & (GW) ﬁi’m/m (GW)

oI 84.43 142.56

Fe 55.85 124.15

oY RY | 4422 7490

dfierg | 33.79 68.75

FUeAE T | 0.00843 1.27

frER &g

e

: A o C> A>B>D>E
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Given below are two statements In light of the above statements, choose the

, correct answer from the options given below
T qFE ier e 5 e, 9 fo
Statement I: The number 89325324 is divisible ¥ & =&t 3v% @t == @ifora:
by 00, (a) Both Statement 1 and Statement II are

, false/®aA [ 3 11 341 319 B
Eﬂ"”:uﬂ%z”” %Ma' (b) Both Statement I and Statement Il are

: true/HIA 1 3 11 341 97 1
Statement I1: The set of natural numbers is (c) Statement I is false but Statement II is

also called the set of whole numbers, o true/FI | 379 &, fobeg Fe 11 37T 2
: m ' ) Statement I is true but Statement II is

CLe) l!  JIchd '33 AL ER cl Tﬁ false/®%9 | §7 @, T Hoa 11 376 2|

TenaAt & W o @ g S

/ " || Easy Notes 4u I —;
Online Study * *~
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Which of the following are myths about
communication?

HUeeT & fasa § afafaa g a = T
&2 1 — % 3
\}/ Good communications are born, not made \
IS WUYSH SFUSE B4 & 9910 T8 SId 2 |
f. Stage fright 1s not a communication
apprehension

Ty Hifq Gusr S SrviE T8 2
\f. Communication skills have nothing to do
with relationships

HYGUT HIYTA H GaEi § HIE_AA-241 Ja] 2 |
D. Communication has its own barriers
HYGOT HT YT "rHrd it 2 )
E. Practice leads to the nght habits of
communication

T § GUYUT H GE 37Ed T E)
Choose the correct answer from the options given
below:

\:ﬁ?‘é‘mwﬁwﬁﬁ@uﬁmjr FHifsra:
)(A,BandConly/a»_cl?f A,Baﬁ'(zga\
(b) A, D and Eonlmt e

(¢) B, C and D only/&haa B, C 31X D
(d) C, D and E only/&ad C, D 3iR E




What number comes next in this sequence?
70 e 0 3l e d dt amft? 2

6.4,2.5.15, -
@) 05 (b) 0.5

CIDRVARN'E




What number comes next in this sequence’
30 STEN W ST HE @ W At
6,4,25 13,7

(a) 0.5 (b) 0.5

(¢) | (d) -

Ans ﬁﬂgmﬁﬂaﬂﬁ}-
—é) ® 25—@]5 S

(c) 39 4G F T I 2|

—




Mateh Tist T with List-I0 D. Anupasambhari IV. Sky lotus 1s
B . FgHRH fragrant because it
Teft-1aht i1 gafea Fif: —_ belings to the class
List-1/=i-1 List-11/=it-11 of lotus
A. Ashrayasiddha I. Sound is eternal V JTHTY HHA Ffem
SIS because it is visible 2 Hifs @ FaA
eaf 3Igad @ it aif & we= 2|
dg g¥gHH 2 Choose the correct answer from the options given
B. Svarupasiddha II. All real are below:
Q&g V4 momentory; sound Ha faw e faswedi § ¥ 9d 3w ﬁﬁq:
1s real; sound 1s (a) A-1, B-III, C-II, D-IV
— momentory/dHt (b) A-II, B-1V, C-I, D-III
afy arafis 8 | ((d) A-IV,B-L C-ILD-Il )
At afor 2

C. Vyapyatvasiddha  III. All objects are
eternal because

re kn l Easy Notes 4u
they are knowable Online Study v :
=S =

it uad wnwd 2
Hifd 9 39 €|
—




Which of the following Green House bases
were the target gases whose emission was to be
covered under the first commitment period of

the Kyoto protocol?
freferfigd & @ @-H 1 grew T @ e
T off e I @ @ e &
Yorw Yo et o SR W I W
A. 50, B. CO,

C. N0 D. NH;

E. CH,

Choose the correct answer from the options given
below:

A fau T foedi 4 9 W 3 @ 999 S
(a) A, BandConly/éﬂﬁA,BaﬁiC
B, C and D only/@dd A, B, C I D

(b) A
\((C and E only/dd B, CHNE
) B, C, D and E only/@a@ B, C, D 3R E

\
» ()




Which of the following Green House bases
were the target gases whose emission was to be
covered under the first commitment period of
the Kyoto protocol?

frafafaa ® & eq-df M= gew i 9 afa
o oft fae Il & o=er Wieieier &

TUH Ufealgdl et o SrEt | Tar ST 417
A. SO, B. CO,

C. N,O D. NH;

E. CH,

6 W& A FEW T4 Ieq F R w91 7
Aeiferfiad 8

Ans. (¢) : FET TEIHA i Tgell Saagar HAafer F e

Choose the correct answer from the options given
below:

Fra fou U fosedi @ 9 W@ IW #1954 i
(a) A,BandConly/%ﬁﬁ A,Baﬁ( L

(b) A, B, Cand D only/&ad A, B, C 3 D
(c) B,C andEonly/%Tﬂ B,Caff( E

(d) B, C, D and E only/&aa B, C, D 3 E

(i) FEA % 3RS (CO,) "Z—‘\F ___ |
(ii) #19= (CH,) [ -4 _J g
(iii) R MFEE (N,0) | Easy Notes 4u I T;
(iv) g@gﬁq@ﬁﬁ FE (HFCs) L Online Study k-
(v) WEHE (PFCs) =N

(vi) T SFITFATEE (SF)




[n agricultural regions, groundwater can have @
P _

significant concentrations of which pollutant?

i 4ot 0 o e )
et

(a) CadmiunyFEfim (b) Lead At

S!c) Nirate@ (d) Selenium/Fem




In agricultural regions, groundwater can have [Ans. (¢) : 3% &1 ¥ 306 9 § T2 W 4
significant concentrations of which pollutant? |72y wan gt ¢ s % Wofvw T W @, Afew

Y 41 W R W (6 Yeuw @ 998 W (37 g @ § e W feAE 40 W W
W ¢ T ¢ 741 7 et ot ¢
(a) Cadmium/efirm (b) Lead 4 A3

(¢) Nitrateﬂ%@'é (d) Selenium/Aeifam \F/




Name the fallacy committed in the argument
below

TH deh | feRu TTU e kT TR F4GTUl
"AlIl men who understand women are
potentially perfect husbands.

| 2eyt ufer &1

All potentially perfect husbands are men of
infinite patience.

Tt @WTeT WU 9 37Eyl ufad 3w 9" are
gEH Eld &1

Therefore, some men of infinite patience are
men who understand women."

3e: o O aret o UsY Wigonsi &l
TS aTA &Y &id a1’

(a) Exclusive premises/aadda®
(b) Existential fallacy/ dhary
(c) Illicit major/379Y Hre

(d) Undistributed middle/37aaTd 29




Name the fallacy committed in the argument
below

30 Tk H T 7T S &1 AW ST
"Al men who understand women are
potentially perfect husbands.

‘' afgeedt t wEHA arer ueft gew e wu
| 3Teyt ufa &1

All potentially perfect husbands are men of
infinite patience.

weft durer w7 | aneyt ufq w9 are
TEY Fd &

Therefore, some men of infinite patience are
men who understand women."

wa: dm OF At FP UEW Wigensd @l
TS aT Ty & 8l

(a) Exclusive premises/aTdtd 3TeaH

(b) Existential fallacy/m GETAL

(c) Ilhicit major/aTé%I qreg

(d) Undistributed middle/3/eTa &q

(s, ) : TeN UG AEhE w@en g
o o 1 el & o 71 9 & fot 9 @
T 8, o 8 3 9 8w o o 7 o A 3
R A A T g

1
P ST

et
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An extraneous variable is also known as

TR oWt 3 o T R A A 27 .
(o) At T (T3 55
b) Contiguous factor/Afafed T
) Dependent variable/FT¥ T
)

Intervener/ 31740 (Z2)

C

(
(
(d




An extrancous variable is also known as |ARS.[a): W ] W ﬁf i é fﬁ% i @

amw R R T Ay R T § W §) 3
) it T (T3 e o o 7 8 3 %ﬁﬁa Mﬁ

:b] Contiguous factor/ﬂﬁﬁﬁ% i ﬁaﬁﬂ 3 B 0 o o o

¢) Dependent variable R

(d) Intervener /37 (W)




Given below are two statements \ /
r=r 21 = feu 7T §: /
Statement I: Personal competenciey determine ’L\)\
how we manage ourselves

wHAT | : AATvhes @AY faerifia =wedt € o5 g /
3TTAT GaelT o ohid 2l

Statement II: Social competencies determine
how we handle relationships

&= [ : 9TATSeR aruary fauifia =wadr & o
BH Haer e farara £
In light of the above statements, choose the

most appropriate answer from the options
given below

IUIITh Al oh 3TTelleh |, = fau 1o faemear

H T/Tdt 39T &1 ST ahiferg:

( Both Statement I and Statement Il are
correct/&a9 [ 31 L SHI 921 & |

(b) Both Statement I and Statement II are
incorrect/&9= 1 37X 11 24T Tad '%I

(c) Statement I 1s correct but Statement II 1s
incorrect/&a= 1 T8l 2, fa=g g= 11 Taa 21

(d) Statement I 1s incorrect but Statement Il is
correct/<




Which of the following types of power plants

provide electricity consistently running 24 hrs | 3

per day, 7 days a week? —
frrrfeflgn & W ferm e & it W 24 W2
st i it 7 i o g et . P
U ¥ forrelt Yoo @ §7

4) Geothermal /-  (b) Hydro/Se

(¢ Solar /AT d) Wind/9d4




Which of the following types of power plants
provide electricity consistently running 24 hrs
per day, 7 days a week?

fowfeiian W ¥ fom Ve o S W 24 W
git & o 7 16 o g v g P
T 7 foraet Ve & 7

(a) Geothermal - (b) Hydro/Se

(c] Solar/AT (d) Wind/Ta

Ans, (a) : 0 ol §aT 1 AN 4@ K e
Fe 1 FEA S 21 59 e & gl i g
o (vt &) o qd ) 41 30 SR HeE 24
G FEawE

g—mrﬂumf@dafﬂﬂm%a’lﬁ-/
|. 3% WM @i (Dry Steam Plant) |
), IV WEfehe W e (Flash cycle steam plant) A

3, AL Wl e (Binary cycle Plant) \/




In India, according to Niti Ayog's SDG Index

(2019-2020), which is the best performing state '),k:

on SDG-9 (Industry, Innovation and /
Infrastructure)

Hifer amanT & T @ Sf geww (2019-20) F j

IIAN R H TW & -9 (IR TarEn

$TGER ) T A Aga e F ar N
T -1 87
J@ Gujara /T (b) Karnataka/&ied

J (c (d) Te]angana/ﬁ?iﬂw




In India, according to Niti Ayog's SDG Index
(2019-2020), which is the best performing state
on  SDG-9 (Industry, Innovation and
Infrastructure)

Hifer s & @ S goE® (2019-20)
A T W W g -9 (T Farw @
ST ) W Waw ot e & aten
T &H-T1 ¢/

(3) Gujarat T8~ (b) Karnataka/Fie

(c) Kerala/at (d) Telangana/ﬁ?iw

Ans. (a, ¢) : e $ T @ W gEEs (2019-20)
% SR 9§ U8 & -9 W T agm e Fe
e T Fl 1 90 31 -9 § & T a
SSMW_@%IW@W@HWMI?I
T @l % AR A ¢ 7 T RV e g
2 1 f &, SO SEiEw e @
T & 2|




Which of the following are advantages of
observation as a tool of data collection?

T TUE & IJUHKIUT o ®WA H YT &
fafeafaa 9 9 -9 s 82

A.

e
V

S

Observation takes place only in_natural
settings/SeI0T hael Thfaeh qRaeT # T 21

Observation methods demand the active
participation of subjects n the

programme/3e10T fafe=i & fouw wrdsa § waf
& gfera wrfied a5t savashar adr 21
Observations are known for directness/S&foT
JgeIdT & faw s sia €

Artificiality can be minimised in
observational studies/S8UT & 378941 H
FHiAgar st Faa9 fFar s gwar 21

Recording devices can be used in
observational studies for accuracy/SeIUTHclsh
serEEl § Gdieal & o REE & are
gftrat (fearsdl) 1 wanT fear s g 21

Choose the correct answer from the options given
below:

H= feu 7o fasedi § 9 981 39 &1 9949 FHifsa:
(a) A,Band C only/‘sb—clﬁ A.B 37 C

(b) A, B and E only/&ad A, B 3iK E

(¢) B, C and D only/&hdd B, C 31X D
(d) C, D and E only/&ad C, D 3T E




Match List —I with List-11

Teit-1 &t G- 11 9 gafera arfag:

List-1/3=f-1 List-11/3=-11
A. System Software I. Library
faen gieam Management
System/aﬁaﬁ
faoiie fawen

B. Application Software Il. Firewall
Ufteeh A Gigeaat HrEEe

C. Security Software  IIl. Compiler

el giaeaa] FHAT
D. Embedded Software IV. Automatic fridge
afafea afgeaa? afad s

Choose the correct answer from the options given
below:

Hra R 7o fawedl d§ | 9d I g

(a) A-I, B-III, C-1V, D-II
(b) A-II, B-1V, C-1, D-III /

(c) A-IIL B-1. C-1I. D-IV

(d) A-IIIL, B-1V, C-1, D-II

Yo




The middle term of the inference is related to
the major term neither as a cause nor as an
effect but because they are uniformly related 29)

to each other in our experience, is known as —

YW H g WA W Wafd §, T w0 o
wY W A f @ & WU, § W @ g aava
i v et R A e 150 e
(a) Pakshdharmata/Serera

(b) Puwavaﬁﬁaﬁ

\L(fSamanvatodrshta/ﬂmW@
(d) Sheshavat/ITvad




According to Robbins et al, the sequence of
barriers to effective communication in an
organisation is
e Ud 31 & AN fordt 9res ¥ guret
HYUYUT W AT 3T il shi §:

A. Languag

B. Emotions/HTd-1d
C. Selective perception/dd-ATHE A& U]
D. Information load/fI-MER

E. Filtering/fheefia

Choose the correct answer from the options given
below

g few v famedi § 9 9@ 3T F1 999 Hifoa:
(a) A,B,D,E,C (b),B,C,D, A, E

(c) D,AE,C,B \d{E, C.D.B.A

% Q\




According to Robbins et al, the sequence of
barriers to effective communication in an
organisation is

Tifera U 3 o W feredt Wre § gt
AU § 37ETe AT R A 8

A. Language/¥TT

B. Emotions/"1aATq

D. Information load/§dHR

E. Filtering/fheefim

Choose the correct answer from the options given
below

A o U fadhedt § ¥ 9@ I F1 95 FH
(a) A,B,D,E,C (b) B,C,D, A E

(c) D,AE,C,B (d) E,C,D,B,A

C. Selective perception/dgTHd A&l V}// W
37 M/JJ
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